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Complete H Atom Wave Functions for n= 1,2,3
ei Form (Table 6.5)
sin  /cos  form (Table 6.6)
From McQuarrie Text pp 208 and 218
 ei form
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 sin/cos  form (combos of ei see pp 218)
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TABLE 6.5
The complete hydrogenlike atomic wave functions for z = 1, 2, and 3. The quantity Z is the
atomic number of the nucleus, and o = Zr/a,, where a, is the Bohr radius.
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TABLE 6.5
The complete hydrogenlike atomic wave functions for n = 1, 2, and 3. The quantity Z is the
atomic number of the nucleus, and o = Zr/a,, where a, is the Bohr radius.
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TABLE 6.6

The complete hydrogenlike atomic wave functions expressed as real functions for n = 1, 2.
and 3. The quantity Z is the atomic number of the nucleus and o = Zr/a,, where a, is the

Bohr radius.
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